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Anavmiote ka1 otig AYO mo kétw epoToelg oE Eexmplotd gpiAia

Epamon 1:
"HEPINTOTIAKH MEAETH: ENOAPPYNTIKA LYETHMATA AMOIBHZ"

H mapoboa nepurtocio) perétn mapabéter 600 mAevpéc tov Bépatog. Avapéveral
ané cag ve dHoeTE ATUVTICEL, 6TU EPOTIHATY OV cug DRoPdrloviat Exoviag VEOYT]
g dev vapyer opbn 1 Aavbaopévn anavtnon. Oa wpénet va vroompifere tn Hom
oV viobeteite—oOmote kat eqv eivar avth. llpooéLete: n amavimon oag Ba npéncer va
AGPer vdym To MEPEXOHEVO NG MOPOVCAg HEAEMG Kal Ta emyEprpata cug fa
wpéne va Swtondvovtal pefodka ko pe Swwdyewn. Nuo ndpete og Sedopévo mwg 1
dievBovor xor o vadAinAog pumopovv vo kebopicouv owotd kmi PE £vKOAln To
EMAED TTG «KAVOVIKI]G GIOS00TICY OV avaPEPOVIUL O KATW.

Epaomon:
Mmopei n copPatua} rpootyyion oe OTL apopd TNV apoi} TOV TPOCLITKOD V.

ovriotabel oy evBappuviua) apon; Wwitepa ev dyel tav véwv dedopéveav Tig
RQYKOGHOTONCTIC OV ATaIToOvV and Tov KGbe opyavicpd va eival aviayovioTikog;

Epdon 2:
CASE STUDY: PROLONGING THE RETIREMENT AGE

The case presenis an issue of great imporiance to the economy and the working
people. In answering the question below please remember that there are no right or
wrong answers. You have to support your position—which ever that may be. Take
care not to neglect the content of the case and please put your arguments clearly and
methodically and do not repeat /rewrite what is written in the case.

Question: 7 o e

Do you feel that the retirement age should be increased for the good of the economy
and the people? Is an increase in the retirement age likely to create negative reactions
and if yes how should these be dealt with? Please remember the laws on age
discrimination when formulating your answer.




Epodmon 1:
ENOAPPYNTIKH AMOIBH: KINHTPO 'H ANTIKINHTPO

Ta g averToynéveg okovopieg To DEpa g evBuppovTikig apo1Pig anotedel
ooBapb6 ko molvovlnpévo Bépa. MéEoa o€ TETOLES OIKOVOPIES TOAAOL TTGTEDODY
TG JIE TNV EIGEY0YT) ovoTnpdtoy evBoppuviikic aporPrg propel va avEnbet
GrpavTKd 1} TapgyeykdTTe Kot va Behtiwdel muymwonxommg_owag
Aev apvodvIoL TG DIAPYOUV Kal GAAOL TPOTOL Y10, va avénfel 1) Tapeyoy ko Te Kol
avapEpOLY MPATIGTE Ty Etoay@Yn oUYXpOVNIG TeXvohoyiag pésa oo xbpo-
epyaoiac. Avtibeta, dlior extylodv mwg i evBeppuvtikn apofn ww
epyalopevo va yivetm «oxAdfocy g SovAsids tov, va aviaymviletal vTove. Tovg
CUVASEAPOUC TOL Ko v x0hd o epyaciaxé khipa. Zav omotédeopa, Sateivoval,
TPOKaLOOVIAL EEPIGOOTEPES APVIITIKEG MOPE BETIKEG EXUTTMOELG Y10 TOV OPYUVIGUO
KaL TV OKOVOia.

H evBappuvruay apoiPr] ompiletor ot priocopia E1dIKGV IOV MOTEDOVY WS 1)
apoif tov ke epyaldpuevov Ba mpéner va kepdiletm pe oxinpn dovieid. Eve ankd
evlappovnikd cvompa epoifig eroteleitar and dvo Puokd pépn: a) To eyyOTiEVO
{LEPOG TOV picBov kat To B) petaPAntd pépoc. To eyyvnuévo uépog katafaiieral
STOVEPTALOHEVO oTn Péon g mxpoﬁou oV ¥povov. Aniudr}, 1o TEhog TOL URVOS 0
epyodomg avalapPaver v vroxpéwon) va kotaPdkel otov epyalopevo Tov
gyyonuévo uieho aoyeta and tnv anddoon tov teAevtaiov. E@dcov 1o oTéAe) 0og
cvvegilel va epyodotsitan oty etapeia, avtr] Ba Tov xatofdaiiet Tov eyyunpévo
mobo. To petaPinto pépog kataParretal avaloya e TV amOd00T) 100 GTEAEYOUG.
H ymi anddoon efonaxovet ko ynho petafinto pobo6 evod avtibeta n younin
anodoo) apeiferal yapnia 1) axopa kot kabéiov.

Yy pakn BEPora kot Ta SHo okEA Ty EvBappuviikdY cCusTHHATOV

octpilovion 611 hoyik g amédoons kaboT kat To eyyonpévo pépog ba mpénel
TeEMKQ va Sikatoloyeital oo tov epyalopevo. Oocot oTjpEwbvOLY ERaVEUpEVE
TOAD YaunAT} ar06007) 610 TEAOG aroABOVTaL. AKOpQ KOt TO EYYOTUEVD LEPOC TOV
ploBm) eEumakovel éva 1 arodER L0 pivipovp eninedo amddoong. To petaPintod pépog
avEoperbvetal ava?»oya LLE TV AROO0GT] TOU GTEAEFOVC OAM SeV peEtdvETal Kitm and
10 undév.

Méca ota mAaicw evoc evBappLVTIKOD CLOTIUATOS O AVRUEVOpHEVOC (KaTd TNV apy
TOV £TOVG) 6VVOAKOG 6BOg ToV oTeEdER0VG vIodwpeitat oe 300 PEPT OV
exppalovtal cay mococTd Tov Mo ;ave Jucbov. ' zapaderypa, 1 devbovon xut o
gpyalopevog coppmvovv ot éva otdyxo «X» amddoong yia Tov epyalOpEVO Kot o
ovvolikeég anoraPéc « Y» ot faot) Tov mio mave otoxov. Eav o1 «Y» arolafég
wodvvapovv pe £1.000 oo tov piva, i kopdaderype, T0 1O Tdveo 1066 Oa
puropovoe va vrodwpebei oe 80% (£800) eyyuvnuévo pépog kat 20% (£200)
petaPAnto pépog. Epooov o vaddinkog anodider ota xavovika eninedo (dniadn ota

enineda 1ov mpokabopiopévon oTdR0L) Bor pnopel ver kepdicet T0 GHVOLD-TOD
cOUpoVTIHEVOL JisBob mov sivar £1.000.

Edv 1 ané800m tov vaAAAAov TENKE EivaL KETE GRG T KAVOVIKE GOUPOVIHEVE
enineda 1o petafinto nocod tov £200 perdvetar onig £120, yo mapaderypa. e
TETOLE IEPINTOOT) TO GVVOAD NG apong Tov epyalopevov ebaver onig £920 (£800 +




“\\/”“\

T

e

£120=1£920.) Avrtifeta edv 1 anddoor tov epyalduevov Eenepdoel To KAVOVIKA
coppovipéve enineda amodootg TOTE 0 peTafAnTtog puobos Tov auEdvetar TEpoy TOV
o1oyov tov £200 (£300 yia mopdderype.) e TETOW NEPIRTWOT) 0 GUVOAIKOG pcHOC
10V gpyaldpevov Ba avinbei otig £1100 (£800 + £300=£1100.) Ta «xovovikd
ovupovnuéva enineday anodoong kabopilovral and mm dievbuvon oe cuvepyacia pe
oV £pYolOIEVO KL PE TN YPOT) COYYPOVOV TexviKGv. [ opispéva exayyEipata
(Om@g o1 TATGELG Kot 1) TapaywyT) o xebopiopds g «xavovikie» arnddoorg ivar
gVKOAOTEPOG pia kot 1} anddoomn exppaletal oe povades. Ta @la enayyéApata o
kaBoptopdg tov emrédwv andédootg eival SuCKOAGTEPOG XAAG TATPOG EPIKTOGC.

- Zmyv nepimtooT) v ovpfankdv cvompdtnv apong o epyaldpevog apeifetm &f

SXQ)OC“ gﬁﬁ‘ﬁ’nTBﬁEfrov gyyur]pzvou maBov. AnAddt, eav cvupwvnbel nwg o
Guvorkds [11606¢ To epyalojiEvon Oa sivar £1.000, yie tapaderyua, T6te 0OAGKANPO

10 Toob Bewpeitar oav eyyunpévo ket otadepd e pic TOVAGIGTOV YpovikT Tepiodo
(eg modue v éva xpovo/Smddexa prves.) Xty wpatn avtd onpaivel nwg 6001
epyaloviar Kevovikd Kot EKTTATPHVOVV TG VITOYPEDOELS oTrv ot TV

mf)opwuévmv emnedov apeifovrar pe £1.000 (oto mapdderypa.) Oowv i omodoon.

EIVOLL YO 1oV KovoviKoD oAy apeifoviar e to idto moob. To "To idt0 oYOEL Kat
o ocovg Exovv and8o0on TOAS-YRAGTEPH-TOV-KOVOVIKOD -

—

Or ;wduxol tovilovy nwg epodoov oty mpakn N anddoot) v epyalopévev Saeépel
an6 GTOLO OE GTOKO, LE Nia YPTIyepn Kol amAy} pabnpatia tpadn anodekvidetol mwg
0 aOSOTIKOTEPOC DAGAATAOC «pUOdOTEL VIENQ AIOBOTIKG. Zav

anotéleoun Ao Ta 1EAT g opddag apsiBovia to ido. Ta mo néve wydovy Ko

Y10 TNV TEPIATWOT] TWV ETNOLHV TPOCALENTEWY OTOL OAX To LEAT] TG OUddag
anoiapBavovv v idie Ttpocavdinorn.

- Oremxpriég tov evlappovikdv coctnudtov vrootpilovy Teg TEtow cuoTipate

Bploxoviar extdg g hoyudg g wiotntog. Epodcov o epyaldpevog dev anodidet
IKAVOTOMTIKG TOTE 0 £pYOSOTNG TOV cav IP@TO UETPO Ba mPEMEL va ToV
npoerdonouioet, va tov otnpi&et, va tov cuuBoviedcEL Kal Ve TOV EKadevosL.
E@doov Ao anTd amoTOYouV TOTE 0 £PYOSOTIG EXEL TNV SUVETOTTE VI TOV AOADOEL
Aev Ba mpémer Spumg va Tov peudoer Tov pioho xal va avéioet Tov pioho tov
anodoTIKOTEPOV GUVADEAPOD TOV. ENUEIGVETHL TG o)V KV7po MOAAEG PopEG O
epyalopevog mov amolveTar AOYm aToyng anddoong Toyxaver kat anolnpinong.

Ta evBappuvtikd cvothpata emxpivoviol Tog ¥wpilovy 70 TpocOMKO OF TAEELS, Twg
givon SripeTikd Ko g hratapdocovy v cvvoyn mg opddas. Ot emxpriég
TPOCBETOVY TG EGv HVO PEAT] TOV TPOCOAIKOV EXTEAOVY T0 id10 £pyo aAldd évog amd
avTovg apeiBeton TEPIcOOTEPO amd Tov GAX0 Adym ynAdtepng anddoong, TOTE
avemdOELKTa SNjpovpyoBvTol apviTikd awcbnpata petadd tovg, m.y. {fha.

Ot idor avBpwor kotadikalovy Ta evBappLVIIKE CUCTHATA GOV CUCTTLOTA TOL
evBappHvovy Tov gpyoddtn va expetadrevdel tov epyaldpevo @bdviag tov va
epydletar «oav oxhdBogy oto Poud Tmv yprpdtey Kut me auEnpévng apopg.
Eniong xutadikalovv 1o ootnpe nwg coveyns petaPailel mpog ta Tavm 1o nineda
amodooTg Mote 0 epyalopevog va pnv propel mOTE va NoVYACEL KOl VO QoA DGCEL
T0V¢ KOmoVg Tov. O ktiotng mov wépvot £xule 1000 tovPAa ava povada ypoévov
@€tog Ba npénet va ktilet 1.100 péoa oy idwx povada ypoévov pu xar 161 £xEL
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anodeiEer TG propel va metdyer Tov otoyo Twv 1.000. Tehika o epyalduevog pnaiver
péoa o€ Eva eavio KOKAO mpic TEAOG.

- Or emxpitég Twv ovpfenixdv cvotnpatev apoPng vroostnpilovy mwg tEtow
. ovothpata dev anodidovv emerdi) evBappivovv oe éva Badud v abxgopia. Natio
- vmdAAnAog va epyactel cxAnpdtepa 6tav Yvmpilel mwg o cuvolikds Tov picBog etvat
. eyyonpévog; O epnovyacpos anotedsi peydho avuxivtpo, tposbitovy, pewdvel Ty
A0SO TIKOTN T TOL TPOCHIKOD KAt KuBICTOUY TOV OPYRVIGLO OVATOTEAECHOTIKO KUl
. pn aviayevieTkd. Tékog Siepotdviar mmwg propel &vag opyavicnds pe copBotixd

cvotnue apoPric va aviaymviotei Eva dAlo opyavicpod mov epappolet evBappuvrikd
CUCTINO KAl £XEL HELOPEVO HIGHOAGYIO KOt PEUMUEVO KOGTOG TAPAYDYTIC;

H oxiAnpn mpaypotikémte TG TEYKOOWONoinoNg, Tovilouv ol VIOCTNPLLTES TV
evBappoviik@v cvoTrpdtev, KafisTovy aver ovoiag kdfe culfityon eni Tov Bépatog
pla KOl 01 OpYaviGRol tov poc@épovy elnvotepa apoidvia Kal vanpecieg
VIOYPEDGVOVV TOVG DIOAOIIOVS OPYAVICHOVS VI VIODETIICOVV TIg TPAKTIKES TOV
arodoTikdTEPMY OpYaviopdv ©ote va extfiacovy. TTpoobitovy mwg o vyuig
avioyavicpds Héca oTIg TALELS TOV TPOCHIIKOY avartiooer Tov {ho, kahvtepedet
10 EpYaciaKs TEPPAALOV Kot HEWGVEL TO EPYATIKO KOGTOG TPOC GPELOG TOV TTEAATT],
TOV HETOYXOV Kat TOU BI0V TOV DIHAATIAOV.

braercy D2pec.
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Question 2:
PROLONGING THE RETIREMENT AGE

Most Western European countries are now experiencing a very serious population
growth problem. Whilst the population of many developing countries continues to
increase at a dizzying pace the population growth of many Western countries is either
stagnant or diminishing. It is reckoned that at the current rates the population of Italy
will be reduced to 20.000.000 people in about 50 years time. The same is said about
Greece which currently faces a population renewal crisis.

Between the years 1940 and 1945 when Europe was engulfed by war many couples
decided to put off having children for obvious reasons; plus of course the fact that
most males were away fighting the war. Immediately after the war was ended and
people started viewing the future with more optimism they started building
conventional families and having children. Europe at the time experienced a baby-
boom and the children of that era are known as the baby boomers.

These baby boomers are now either in their sixties or are just at the threshold. These
people served as the engines of the economies of most European countries and helped
generate the amazing growth rates which the western world experienced for so long.
Some of these people held, and are still holding, senior management positions which
they are about to relinquish as they approach the n'admonal retirement age of about 65
years.

As the population growth rates of the last 20 years failed to keep pace with the growth
rates of the past a serious population crisis 1s just about to unfold. As the babL

Obviously it will become progressively more difficult to pay the pensions of so many
people. This explains why the social security systems of many Western countries are
threatened with financial ruin and are on the verge of disaster.

secunutem which will now be required to support huge numbers of pewrs

The population crisis is causing very serious problems for many economies. The
huge numbers of people who will be retiring pretty “soon will take with them valuable
skills anid management 6Xpertise; which the economy needs desperately. After
retiring a large number of these people will lie idle for long periods of time.
Additionally they will become a financial “burden” on the economy which will be
asked to sustain them through the social security system, the transport system, etc.
Some of these retirees will experience financial problems as some will not be covered
fully by their pensions. Many will seek to rejoin the market but not in the positions
they held before retirement. Many will take much lower and in many cases menial
positions so as to make ends meet. Take the able-bodied former policeman who will
retire at sixty and who may have to take on the job of a junior clerk or messenger
because he wishes to stay active. Or the former officer in the Civil Service who may
end up returmng to the labour market as junior clerk as he does not wish to spend his
retirement time in coffee shops.

The great strides that the medical profession has achieved over the last decades have
prolonged the life of both men and women in the Western countries. Some such



countries boast life expectancies which exceed 80 years for women and sometimes
even for men. These means that people live much longer than before and are also
healthier than what they used to be in the past. The accuracy with which illnesses are
diagnosed coupled with preventive medicine has changed the life expectancies and
has contributed to people staying healthy. Improvements in literacy, the availability
of education for the mass of people, the advances in communication and the ease with
which people can gain access to information has given people an added protection
through knowledge. The more people are educated the more they are likely to
understand things and to protect themselves against all sorts of illnesses. And, this
again contributes to enhanced life expectancies.

To cope with labour shortages many countries are now allowing immigration. Cyprus
is a case in point. The labour supply in Cyprus cannot cope with the demands of the
economy and more and more unskilled workers are coming to Cyprus to deal with the
shortage. The economy needs these people, hence the demand for their work. But this
does not answer the question of what do we do with the “youngsters™ in their 60s who -
can bring into the market immense levels of experience and know-how and who at the
moment are seating idle just because they have reached the “magical age.”

In view of the above and in response to the needs of the economy and the social
security much serious thought is now being put into the idea of increasing the
retirement age to 68 or even 70. Once this is done through statutory /legal means the
laws which protect people from discrimination on the grounds of age will
autormnatically come into force and those discriminating against these people will be
committing an offence. This will make it difficult to discriminate against this group
of older people. Collective agreements between management and unions can of
course limit the retirement age but this will have to be agreed between management
and the employee representatives and will have to be voluntary. As the retirement age
increases the social security system will be able to take a respite considering that the
system will not pay out and will also receive the contributions of these people.

If the retirement age is increased several issues will surface and these will antagonise
some people. For example, some of those who now retire at the age of 60 and who on
retirement get a lump-sum gratuity (often more thati £60.000) plus a monthly pension
(often 50% of their salary) will be disappointed. They will now have to work full-
time to earn the additional 50% and furthermore they will have to postpone receiving
the lump-sum gratuity. The salary will also be subject to deductioss (tax, social
security, etc, etc.) This means that they will only be getting part of that 50% for
which they work full time. If one were to assume that the deductions amount to about
20% of total salary then this would mean that in order for them to earn the extra 30%
(50%-20% = 30%) they will have to work full time. Of course at the end of the day
they will be earning a higher pension after they leave the organisation for good
because their contributions will be more.

Others who are just about to fill the position to be vacated soon by theirretiring boss -
will realise that they will bave to postpone their ambitions until the boss retires at a
much later time. Of course with more people entering the market the economy is
likely to expand and this will generate more positions which will satisfy the ambitions
of those who wish to be promoted and who are versatile and willing to seek
opportunities not only within their current employers but also outside.

X




Those who delay their retirement will be more likely to fall ill and to be absent from
work than their younger colleagues. This naturally will strain the medical schemes
and increase the total sick leave days taken by staff. Both these as well as other issues
will cost the company more but some say these are only marginal issues which should
not affect ones evaluation of the matter.

The definition of “elderly” is likely to change in the way it has changed so much in

the past. Sixty years ago a 50-year old person was basically considered “old.” Now
one qualifies the criterion of a senior citizen if he/she is over 65. If things move in the
direction of increasing the pension age people will be allowed to work up to the age of
70 and until then will hardly qualify as senior citizens.

Lastly, some bring into the debate issues such as morale and worthiness which help
people live better and healthier lives. On retirement some people take it badly and
feel depressed. With the increased retirement age these kinds of feeling will take
longer to set in and will give so many people a better perspective to life. The
economy is likely to benefit from this kind of arrangement and in turn will generate
more jobs thus enabling youngsters to enjoy the fruits of employment.



¥

APXH HAEKTPIZMOY KYIIPOY
I'PAIITH EEETAXH I'TA THN IAHPQZH KENQN OEZEQN

BOHOOY YIIEY®OYNOY MHXANIKOY BAPAIAY LTAOMOY
( HAEKTPONIKH)

Hpugpopnvia : 17-04-2004 Avapkewa : 2 Qpeg

Epdtnon 1 (Na anavenBel ota EAMIVIKG )oeveieeenniincninciiiiennannnnne BaBpoi 20

1. Avagépate T &idn cpuAdTOV TV OPYAVOV HETPCEMG KOl 7OV VT
opeidovral.

2. Tuovopdlovpe Zdotpua Avtopdtov EALyyov (Z.A.E.) ko mowg xatiyyopieg
yvopilete ;

3. Tiovopdletar mAemxowoviaxn (evén kat and T anotelsitarl ;

4. Tv eivme 1 modlvmie&ia ot ovyxvomra ( FDM - Frequency Division
Multiplexing ) ;

Epdtnon 2 (Na anavinfel ota EMNVIKG )..coevencnireienernniininincnnns Babpoi20

1. Tieivarn Movomhsvpudi kot Auhomisvpikt] Aapdpeacn (SSB ~DSB) ;

2. Tv etvan ml&p&tdSoo-n Kal mow efval ta anapaimito otoyeia Yo TV
KATAOKELT] EVOG OTOLXELDOOVG KUKADUATOG;

3. Ilow &idn ontikdv vdv xatl onTkOV KoAMII®V yvmptgsrs

4. Tieivar ov ontikol evicyuTes ;

Epdtnon 3 ( Na anavinBel ota EMMVIKG ). icvveeiiiiiiniiiiiiiiinnnen Badpoi20

1. Tlowg o pbrog twv QIATPOV OTG TNAETIKOWVOVIEG KOl OF TOLEG KATITYOPieg
dwaxpivovral;

2. Adocarte tov opiopd Tov BopiPov oTig THAEMKOW®VIEG Kol TEPLYPAYTE GE O
€idn tov wakpivovpe.

3. Tietvar ot 8Lapop(pco1:sg (rnodulators) Kal 01 amodapopeaTég (demodulators)

"FM;

4. Avogépate to mheovekmpata tov [Ipoypappanidpevov Ereyxtav (PLC),

EvavT TOV KAIGOIKDY GVTOHATICHOV.

‘ Tuvéyela oty endjpevn oelida  e—



Epatnon 4 (NaaravmBei ota EMANVIKG )oveeeeeieinenniniiiiiiiin. paOpoi 20

1. Na avagepBodv 1o €idn pviung mov  ypmoponoodvial o€ évav
Mpoypappanilopevo Eleykri (PLC), kot va Jobodv meplnamikd ta
XAPOKTIPIOTIKE TOVG.

2. T eivan 1y xPévmion (quantizing) xau Tt 1 x@dwonoinem (encoding) ;

3. Tv eivon 1 modems ota Aiktva Hlextpovikdv Ymoloyiotdv Kot mag

KOUTT)YOPLOTO100VTa § _

4. Tv givm ov ypoppéc ISDN kv mow eivar ta €idn cvvdéoemv petald
GUVOPOUTITOV ;

Epotnon 5 (Na anavenBel 67o AYYAMKE Y.veeecieceriinmniiniiiiiennien. palpoi 20

What should EAC do in order to use their network for telecommunication
purposes . What are your technical and commercial suggestions on this issue ?
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